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Kon-Bo OueHkun

Ne| Knacc MNpeamet Mepuo H/a| ocB. | % kauy. | % ycn. | COY

p n p n yq-cﬂ ll5ll | ll4ll | ll3ll | ll2ll o o y
1 nonyroave 12 3 9 100 100 73
1 2al WNudopmatuka n NKT| 2 nonyroguve 12| 5/ 7 100 100 79
lopoBas 12 5 7 100 100 79
1 nonyroave 12 5 6/ 1 91,7 100 76,7
2 26| WHdopmaTtmka n NKT| 2 nonyrogve 12/ 8 2 2 83,3 100/ 83,3
lopoBas 12 8 2| 2 83,3 100 83,3
1 nonyroave 13 4| 8| 1 92,3 100f 72,9
3 28| Vndopmatuka n MKT| 2 nonyrogve 13 6| 7 100 100/ 80,6
lopoBas 13| 7, 6 100 100( 83,4
1 nonyroaue 12 8| 2| 2 83,3 100 83,3
4 2r| WHopopmaTtuka n UKT| 2 nonyrogve 12| 6/ 4| 2 83,3 100, 77,3
lopoBas 12 6| 4| 2 83,3 100 77,3
1 nonyroave 13| 5 8 100 100 77,8
5 20| WHdopmatmka n UKT| 2 nonyrogve 13 4/ 8/ 1 92,3 100/ 72,9
lopoBas 13 4| 8| 1 92,3 100( 72,9
1 nonyroave 13 11 2 100 100[ 94,5
6 3a| WNHdopmatuka n NKT| 2 nonyrogue 13] 9 4 100 100/ 88,9
lopoBas 13| 9 4 100 100 88,9
1 nonyroaue 14 8| 6 100 100 84,6
7 36| WHdopmaTtuka n NKT| 2 nonyrogve 14| 9 5 100 100/ 87,1
lopoBas 14/ 9 5 100 100 87,1
1 nonyroave 13 11 2 100 100[ 94,5
8 38| WHdopmatuka n MKT| 2 nonyrogve 13 12| 1 100 100/ 97,2
lopoBas 13| 12 1 100 100f 97,2
1 nonyroave 11 3 3 5 54,5 100( 61,1
9 3r| WHdbopmaTtuka n UKT| 2 nonyrogve 11 3 5 3 72,7 100/ 66,2
lopoBas 11 3 5 3 72,7 100 66,2
1 nonyroave 10 3| 6/ 1 90 100 72
10 38| WHdopmaTtmka n NKT| 2 nonyrogve 9 5 4 100 100 84
lopoBas 9 5 4 100 100 84




1 nonyroane 11 4, 5| 2 81,8 100 72
1 4al WNHdopmatumka n NKT| 2 nonyrogve 11 3 6 2 81,8 100, 68,7
lopoeas 11 4 5[ 2 81,8 100 72
1 nonyroane 16| 5/ 10[ 1 93,8 100[ 73,5
12 46| WndopmaTtuka n UKT| 2 nonyrogne 16 5 11 100 100, 75,3
lopoeas 16| 5| 11 100 100 75,3
1 nonyroane 13 71 3| 3 76,9 100 76,9
13 48| Nudopmatumka n NKT| 2 nonyrogune 13/ 7/ 1 5 61,5 100, 72,6
lopoeas 13 71 2| 4 69,2 100 74,8
1 nonyroane 171 71 8| 2 88,2 100 75,5
14 4r| WHdpopmatuka n UKT| 2 nonyroame 17/ 10, 6| 1 94,1 100, 83,5
lopoeas 17 10[ 6 1 94,1 100/ 83,5
1 nonyroane 16| 6/ 7/ 3 81,3 100f 72,3
15 5al Nudopmatumka n NKT| 2 nonyrogune 16, 7/ 7 2 87,5 100, 76,3
lopoeas 16 7 7 2 87,5 100| 76,3
1 nonyroane 13| 4 6| 3 76,9 100 68,6
16 56| WHdpopmatuka n NKT| 2 nonyrogue 13/ 2/ 8 3 76,9 100, 63,1
lopoeas 13 2 8 3 76,9 100, 63,1
1 nonyroane 16| 7, 5 4 75 100[ 72,8
17 58| Wudopmatuka u UKT| 2 nonyrogne 15 6/ 7, 2 86,7 100, 74,7
lopoeas 15 6 7 2 86,7 100 74,7
1 nonyroane 16 7, 8| 1 93,8 100 78
2 nonyroaue 171 71 10 100 100 78,8

1 7 VKT
8 6 Vinchopmatuka Fonosas 17 8 o 100 100 80,9
Ntorosas 17/ 8 9 100 100, 80,9
1 nonyroaue 16| 8 7| 1 93,8 100 80,3
19 66| WHdopmaTtmka n NKT| 2 nonyrogve 16/ 6/ 10 100 100, 77,5
lopoBas 16/ 6| 10 100 100, 77,5
1 nonyroaue 14 5[ 7 2 85,7 100 72,9
20 68| VHdopmatuka n MKT| 2 nonyrogve 14, 4/ 9 1 92,9 100| 72,3
lopoBas 14 6| 7/ 1 92,9 100{ 77,4
1 nonyroaue 10 2| 5[ 3 70 100 62,8
21 6r WHopopmaTtuka n NKT| 2 nonyrogve 11 3 1 7 36,4 100 56
lopoBas 11 3 1 7 36,4 100 56
1 nonyroaue 13 1 9 3 76,9 100 60,3
22 7al WNHdopmatuka n NKT| 2 nonyrogue 13] 2 7, 4 69,2 100/ 60,9
lopoBas 13/ 21 7, 4 69,2 100, 60,9
1 nonyroaue 13 5[ 7 1 92,3 100 75,7
23 76| WHdopmaTtmka n NKT| 2 nonyrogve 13| 4/ 5 4 69,2 100/ 66,5
lopoBas 13) 5 4| 4 69,2 100, 69,2




1 nonyroaue 171 5[ 10 88,2 100( 71,3

24 78| WHdopmatuka n MKT| 2 nonyrogve 17 8 1 52,9 100, 67,8
lopoBas 171 8 3 64,7 100 71,1

1 nonyroaue 13 3| 9 92,3 100, 70,2

25 7r| WHoopmaTtuka n UKT| 2 nonyrogve 12| 2| 3 41,7 100| 53,7
lopoBas 12 3 2 41,7 100 56,7

1 nonyroaue 171 8| 8 94,1 100 79,3

26 8a| WNHdopmatuka n NKT| 2 nonyrogue 171 2[ 10 70,6 100, 60
lopoBas 171 5 8 76,5 100 68

1 nonyroaue 10( 4/ 5 90 100 75,6

27 86| WHdopmaTtmka n NKT| 2 nonyrogve 9 1 4 55,6 100/ 55,6
lopoBas 9 1 4 55,6 100| 55,6

1 nonyroaue 10f 6 2 80 100, 80

28 88| WHdopmatuka n MKT| 2 nonyrogne 9 3 5 88,9 100/ 72,9
lopoBas 9 3 5 88,9 100| 72,9

1 nonyroaue 9 3 4 77,8 100 69,8

29 8r| WHdopmaTtuka n UKT| 2 nonyroagve 8 2 5 87,5 100/ 69,5
lopoBas 8 2| 5 87,5 100[ 69,5

1 nonyroaue 1M 2 4 54,5 100 57,8

30 9a| WNHdopmatuka n NKT| 2 nonyrogue 100 2 3 50 100| 57,2
lopoBas 100 2 3 50 100| 57,2

1 nonyroaue 1 3| 8 100 100 73,8

31 96| WHdbopmaTtmka n NKT| 2 nonyrogve 11 4 7 100 100 77,1
lopoBas 11 4/ 7 100 100 77,1

1 nonyroaue 13 9 69,2 100, 55,4

32 98| WHdopmatuka n MKT| 2 nonyrogne 13/ 3| 8 84,6 100 68
lopoBas 13] 3| 8 84,6 100 68

1 nonyroaue 9 1 5 66,7 100 58,7

33 9r| WHdopmaTtuka n UKT| 2 nonyrogve 9 2 3 55,6 100/ 59,6
lopoBas 9 2| 3 55,6 100( 59,6

1 nonyroaue 1M 2 8 90,9 100, 68

34 9a WHdopmaTtmka n NKT| 2 nonyrogve 10 9 90 100/ 61,2
lopoBas 10 1 8 90 100| 64,8

1 nonyroaue 12| 12 100 100, 100

35 10a| WHdopmatuka n MKT| 2 nonyrogne 11 8 2 90,9 100/ 87,6
lopoBas 11 8 3 100 100/ 90,2

1 nonyroaue 10( 10 100 100, 100

36 106| WNHdopmaTtuka n NKT| 2 nonyrogve 9 3 5 88,9 100/ 72,9
lopoBas 9 7 1 88,9 100/ 88,9

1 nonyroaue 8 7| 1 100 100 95,5

37 10r| WHdopmaTtuka n NKT| 2 nonyrogve 8 2 6 100 100, 73




| FopoBas g 3 5 | 100  100| 775

1 nonyroaue 8 7| 1 100 100 95,5

38 11al Wndopmatuka n MKT| 2 nonyrogne 8 7 1 100 100/ 95,5
lopoBas 8 7 1 100 100[ 95,5

1 nonyroave 4/, 4 100 100[ 100

39 116| WNHdopmaTtuka n NKT| 2 nonyroguve 4 4 100 100/ 100
MopoBas 4 4 100 100, 100

40| 8a| TeXHonorM;|| 1 nonyro,qme| 16| 7| 8| 1| 93,8| 100| 78
41| 86| TeXHonorM;|| 1 nonyro,qme| 10| 4| 5| 1| 90| 100| 75,6
1 nonyroaue 8 5 3 100 100| 86,5

42 108 TexHonorus| 2 nonyroave 8 5 3 100 100, 86,5
lopoBas 8 5 3 100 100 86,5

1 nonyroaue 514| 222| 229, 63 87,7 100 76,1

Vitoro 2 nonyrogune 480( 191| 210| 79 83,5 100 73,7

MopoBas 480 207| 199, 74 84,6 100 75,2

WNtorosas 17/ 8 9 100 100 80,9
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